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Mary and Paul each wrote down three 3-digit numbers using the digits 1 to 9 exactly once. Then they ordered their numbers as smallest, middle and largest. 
Mary wrote down the largest possible value the middle number could have. 
Paul wrote down the smallest possible value the middle number could have. 

What is the difference between their two middle numbers?

[The middle number is simply between the other two; it doesn’t need to be midway between the other two numbers.]

The hundred-digit of the largest middle number cannot be 9 because this would not leave
[bookmark: _GoBack]a suitable digit for the larger 3 digit number. So the largest middle number must start with an 8, leaving the 9 for the larger one. It is now clear the largest middle number is 876. Similarly the smallest middle number is 234. Their difference is 876-234=642.


Hand in by 1500 on Thursday (place in the box outside the foyer). The best solution (not just the answer) will be announced on Friday. The solution will posted on the website: http://markrushby001.wixsite.com/sv-maths/problem-of-the-week 
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